Corrections of 2009-10-31 on ACD routing system output layout
By Emin Gabrielyan

To Oussama and Christian
1.

Value in the histogram centered 

	11128.47



	


And not

	11128.47



	


2.

Problems

0 < duration ≤ 5 

And not

Problems

0 < duration < 5 

3.

5 < duration ≤ 30
And not

5 < duration < 30
4.

Numbers are wrong

616+1234+876≠1294

5.

Shorter titles such as

“Zero (duration=0)”, “Problems (0<duration≤5)”, “Short (5<duration≤30)”

6.

The field of successful number of conversations is missing, put it before Total calls

“Conversations (duration>30)”

7.

Change “Targeted load balance” by “Target load balance”

8.

The rejected to balance value shows that the comportment is wrong. If your target load is 50% / 50% then half of calls must be rejected.
9.

Why there are absolutely no call via Colt?
10.

Change the legend:

There are direct vendor connections and cloned connections passing via ACD router.

As follows

Each direct vendor connection has a cloned counterpart passing via ACD router.

11.

Change the legend:

The following fields show the overall values of vendors across all its connections (direct and cloned together):

"Zero duration calls (duration=0)"

"Problems (0 ?
As follows

The values of following 7 fields concern all connections of a vendor (direct and cloned together): Zero, Problems, Short, Conversations, Total Calls, and Total Minutes.

12.

Change the legend:

The field "Rejected to balance" concerns only the connections passing via the ACD router

As follows

The fields “Target load” and “Rejected to balance” concerns only the connections passing via the ACD routing system

13.
Merge the cells of histograms and put the histograms superposed. In case of traffic via two links, the superposed set of histograms will represent the overall traffic. In the current the visual appreciation does not necessarily reflect an actual traffic increase or decrease.

So instead of:

	Rejected to
balance
	 

	0
	11128.47



	0
	


Must be:

	Rejected to
balance
	 

	0
	11128.47

120



	0
	


14.

No decimal positions after the traffic volume in histogram (ONLY in histogram version)

15.

Most of errors are simple and syntaxes errors. Many of them were already requested to change. It is a lost of time repeating the same errors. Check the output layout and the numbers very carefully. Please minimize the number of correction ping-pong. I do not like such kind of corrections. I am sorry if it does not sound polite, but accuracy is of a very high priority. Thanks.
	Date and Time
	Vendor
	Billing
priority
	Zero duration
calls
Duration=0 
	Problems
0 < duration < 5 
	Short calls
5 < duration < 30 
	Total
Calls
	Total
Minutes
	ACD
(min)
	Targeted load
balance
	Rejected to
balance
	 

	2009-10-30
10:56
	Verizon
	9
	616
	1234
	876
	1294
	11128.47
	8.6
	50 %
	0
	11128.47



	
	Colt
	8
	138
	0
	0
	0
	0
	0
	50 %
	0
	

	2009-10-30
11:30
	Verizon
	9
	21
	0
	0
	0
	0
	0
	50 %
	3
	

	
	Colt
	8
	7
	0
	0
	0
	0
	0
	50 %
	0
	

	2009-10-30
12:00
	Verizon
	9
	0
	1
	1
	1
	43.77
	43.77
	50 %
	1
	43.77



	
	Colt
	8
	0
	0
	0
	0
	0
	0
	50 %
	0
	

	2009-10-30
12:30
	Verizon
	9
	0
	2
	2
	2
	7.05
	3.53
	50 %
	4
	

	
	Colt
	8
	0
	0
	0
	0
	0
	0
	50 %
	0
	

	2009-10-30
13:00
	Verizon
	9
	0
	0
	0
	0
	0
	0
	50 %
	5
	

	
	Colt
	8
	0
	0
	0
	0
	0
	0
	50 %
	0
	

	2009-10-30
13:30
	Verizon
	9
	3
	5
	1
	5
	3.63
	0.73
	50 %
	6
	

	
	Colt
	8
	1
	0
	0
	0
	0
	0
	50 %
	0
	

	2009-10-30
14:00
	Verizon
	9
	1
	4
	2
	4
	14
	3.5
	50 %
	5
	

	
	Colt
	8
	0
	0
	0
	0
	0
	0
	50 %
	0
	

	2009-10-30
14:30
	Verizon
	9
	7
	4
	1
	4
	21.25
	5.31
	50 %
	17
	

	
	Colt
	8
	2
	0
	0
	0
	0
	0
	50 %
	0
	

	2009-10-30
15:00
	Verizon
	9
	3
	0
	7
	16
	24.22
	1.51
	50 %
	24
	

	
	Colt
	8
	1
	0
	0
	0
	0
	0
	50 %
	0
	

	2009-10-30
15:30
	Verizon
	9
	16
	1
	9
	14
	50.37
	3.6
	50 %
	22
	50.37



	
	Colt
	8
	4
	0
	0
	0
	0
	0
	50 %
	0
	

	2009-10-30
16:00
	Verizon
	9
	15
	2
	5
	22
	193.22
	8.78
	50 %
	33
	193.22



	
	Colt
	8
	4
	0
	0
	0
	0
	0
	50 %
	0
	

	2009-10-30
16:30
	Verizon
	9
	25
	1
	10
	29
	168.08
	5.8
	50 %
	23
	168.08



	
	Colt
	8
	7
	0
	0
	0
	0
	0
	50 %
	0
	

	2009-10-30
17:00
	Verizon
	9
	2
	1
	5
	15
	89.02
	5.93
	50 %
	6
	89.02



	
	Colt
	8
	0
	0
	0
	0
	0
	0
	50 %
	0
	

	2009-10-30
17:30
	Verizon
	2
	9
	2
	13
	44
	182.87
	4.16
	50 %
	0
	182.87



	
	Colt
	1
	2
	0
	0
	0
	0
	0
	50 %
	0
	

	2009-10-30
18:00
	Verizon
	2
	23
	5
	12
	53
	343.68
	6.48
	50 %
	0
	343.68



	
	Colt
	1
	5
	0
	0
	0
	0
	0
	50 %
	0
	

	2009-10-30
18:30
	Verizon
	2
	13
	2
	10
	31
	196.3
	6.33
	50 %
	0
	196.3



	
	Colt
	1
	2
	0
	0
	0
	0
	0
	50 %
	0
	

	2009-10-30
19:00
	Verizon
	2
	15
	1
	24
	41
	125.75
	3.07
	50 %
	2
	125.75



	
	Colt
	1
	3
	0
	0
	0
	0
	0
	50 %
	0
	

	2009-10-30
19:30
	Verizon
	2
	17
	4
	14
	33
	200.57
	6.08
	50 %
	0
	200.57



	
	Colt
	1
	4
	0
	0
	0
	0
	0
	50 %
	0
	

	2009-10-30
20:00
	Verizon
	2
	7
	0
	4
	14
	176.48
	12.61
	50 %
	0
	176.48



	
	Colt
	1
	1
	0
	0
	0
	0
	0
	50 %
	0
	

	2009-10-30
20:30
	Verizon
	2
	6
	0
	2
	14
	163.98
	11.71
	50 %
	0
	163.98



	
	Colt
	1
	1
	0
	0
	0
	0
	0
	50 %
	0
	

	2009-10-30
21:00
	Verizon
	2
	0
	0
	1
	7
	91.25
	13.04
	50 %
	0
	91.25



	
	Colt
	1
	0
	0
	0
	0
	0
	0
	50 %
	0
	

	2009-10-30
21:30
	Verizon
	2
	3
	0
	0
	2
	49.08
	24.54
	50 %
	0
	49.08



	
	Colt
	1
	1
	0
	0
	0
	0
	0
	50 %
	0
	

	2009-10-30
22:00
	Verizon
	2
	0
	0
	1
	3
	26.05
	8.68
	50 %
	0
	

	
	Colt
	1
	0
	0
	0
	0
	0
	0
	50 %
	0
	

	2009-10-30
22:30
	Verizon
	2
	0
	0
	0
	0
	0
	0
	50 %
	0
	

	
	Colt
	1
	0
	0
	0
	0
	0
	0
	50 %
	0
	

	2009-10-30
23:00
	Verizon
	2
	1
	0
	0
	1
	9.37
	9.37
	50 %
	0
	

	
	Colt
	1
	0
	0
	0
	0
	0
	0
	50 %
	0
	

	2009-10-30
23:30
	Verizon
	2
	1
	0
	0
	1
	2.57
	2.57
	50 %
	0
	

	
	Colt
	1
	0
	0
	0
	0
	0
	0
	50 %
	0
	


There are direct vendor connections and cloned connections passing via ACD router.
The following fields show the overall values of vendors across all its connections (direct and cloned together):
"Zero duration calls (duration=0)"
"Problems (0

The field "Rejected to balance" concerns only the connections passing via the ACD router 
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